BEIRALSY DT DWW T

S 2 =

B % 53

S o4 £ 2 H16 [ i

BB EERAT —REFHETEZRO L S ITHRLS LD T, ETLHL L

HIKRZKRD D,

(F2HEEHR)

Ha v T 0 A L AERGE AR S BER RIS IS B B BT OV T, FrE 0K

PALGy % Lico T, T HRIE (B2 24E8% 6 775) 1 7 9&E 3HDOM

EICESE, THROERERDL DO THLD,



SFA4E1T A 2 1 HEHR

(7%

H1% AR TR ORISR AR M Z 887,920 THZBEML, AR T
BOBREEZRARHTNZ 411,633,181 THET 5,

2 WA TROMEDKEDK 3 KON XSy Z & O@FEN M E% DRk A

HPROSFT, IH1ER RARHTREME] 2X5,



B1ER AR PR E

(% A) (A7 - T)

& IH MHIERTOKE MoIE % 7t
55 EE X H4 118, 468, 864 887, 920 119, 356, 784
15 [E A B4 60, 645, 332 887, 920 61, 533, 252

% A & 3 410, 745, 261 887, 920 411, 633, 181




TN

(7% H) (HENZ - TH)
K H FERTOKE ffi IE A it
40 T & 12, 057, 350 887, 920 12, 945, 270
10/ T % 8,370, 911 849, 920 9, 220, 831
15 Bl ok & 3, 686, 439 38, 000 3,724, 439
% & g 410, 745, 261 887, 920 411, 633, 181




026 ‘.88 181 °€€9 ‘TTV | 026 LS8 192 Sy “0T¥ v H ¥
026 ‘.88 0LZ ‘SV6 ‘21 026 ‘.88 05€ ‘250 ‘2T # L E oy
G W o = L Gz
it | & il £ OO OB B IHTRY
M OHE 0 H AT B
(b= + 23) (%)
181 €€9 ‘1 026 ‘.88 192 ‘S¥L ‘01 Yo
8L ‘95€ ‘611 026 ‘.88 798 ‘897 ‘811 GHxdE 99
e B oo Modr B b

(bl TYh)

(VED ser 1

= W B DE Er o B L Y 8 (1)



87 ‘€8S ‘19 076 ‘188 €€ ‘S¥9 ‘09 ]
|
=
|
026 ‘188= (HT 1230 L0€ ‘67€ ‘S—L3C ‘L0TZ ‘9 Ly
L 2B L MR L A ) 4 0 o e | 026 4288 BAEELS 0T 00L9FF ‘L 026 ‘188 08L ‘855 ‘9 AT Ea =R 200 BC)
H Z £ ¥ B
ke L . 1 W W | mowT H
TEWEE 1 () Tx#EE ¢ ()
(W © Tysh) Y ® oz



026 ‘678 1€8 ‘022 ‘6 026 ‘678 116 ‘0L€ ‘8 +

Rliil=

000 ‘€2=(B%9 H£%) 000 ‘SF—000 ‘89
EFEPUHE— (v ( LHTWE
000 ‘00€=(E +2%I) 000 ‘0£9—000 ‘0E6

EEHXBLESHO U YE DB GRTOH
026 ‘925= (T 27) 199 020 ‘€—T1LS“LVS ‘€ | 026 ‘618 T Y 81
BRI B s D) HIFE Ty M 803 = | 000 0€ H ® F 026 ‘678 122 ‘098 ‘8 026 ‘6¥8 T0€ ‘000 ‘8 | HEMEHTHd ST
) ] o> gy | SHEEE
& e o — LS Z: = V= 2 B AT B | EECQLATTHY H
ug MM M W o H b W
BT Hor () L Eor

(KL - 9 H %€




000 ‘8¢ 68 T2l ‘S 000 ‘8¢ 68F 989 ‘¢ 12
|
<
|
000 ‘8¢= (BT 42%4) 000 ‘6G—000 ‘€6 TROW
EEFAHY 2 — 1L | 000 ‘8E [T EY 81 000 ‘8¢ A 000 ‘8¢ 68T ‘€08 ‘C E XMW o1
) ] o> gy | SHEEE
& e o — LS Z: = V= 2 B AT B | EECQLATTHY H
g MM M W o H b W
B KW (E) BT HEw
(k4 Tysh)




